Name _________________________________
MONDAY
Part I: Fill in the next two figures in the patterns below.
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Part II: Find the rule for each function table.
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Patterns HW
TUESDAY
Part I: Look at the pattern to answer the following.

           

What would be the sixteenth item in this pattern?



Part II - Review: use the data below to create a stem/leaf plot.
[image: ]






















WEDNESDAY
Part I: Use the table to answer the following question.
	Number of Hamburgers
	Total Cost

	1
	$2.25

	2
	$4.50

	3
	$6.75

	4
	

	5
	$11.25
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1) Using the table above, what would be the cost of four hamburgers?
__________   

2) Which best describes the location of X on the number line?
[image: ]

A) 25		B) 27		C) 29		D) 30


Part II: What number is missing from the sequence?

3)  4,  ____,  16,  32,  64,  128

4)  1,  5,  _____,  125,  625,  3125

5)  1,  2,  5,  10,  17,  26,  37,  _____
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THURSDAY
Directions: Create the pattern and then find the rule.
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1) At abirthday party, the first child receives 53 stickers,
the second child receives 61 stickers,the third child
receives 69 stickers, and the fourth child receives 77
stickers. Ifthis patter continues, how nany stickers
will the ifth child receive?
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2) Ms. Porter was organizing her DVD collection. She put
3 DVDs on the first rack 4 DVDs on the second rack. 6
'DVDs on the third rack, 9 DVDs on the fourth rack, and
13 DVDs on the fifth rack Ifthis pattern continues, how
‘many DVDs will she put on the eighth rack?
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3) Zeke got a new video game. He scored 4 points on the first.
level, 8 points on the second level, 16 points on the third level,
and 32 points on the fourth level. If this pattern continues, how
‘many points will he score on the sixth level?
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4) Farmer Terry has a plot of tomato plants. There are 5 tomato
plants n the first row, 6 tomato plants n the second row, 8
tomato plants i the third row, and 11 tomato plants in the fourth
row. Ifhis pattern continues, how many plans will be inthe
ninth row?
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